
Subject: WIDGET QUESTION
Posted by victor on Mon, 27 Jun 1994 03:44:14 GMT
View Forum Message <> Reply to Message

I am currently writing a program that uses widgets. I encountered the following
problem:
a=widget_base(xsize=800,ysize=800)
b=widget_base(a, xsize=400,ysize=400)
c=widget_draw(b, xsize=200, ysize=1000, x_scroll_size=200, y_scroll_size=200)

After I realize them, and then :
widget_control, b,/destroy
and then once again, define b and c (c has different size now)
IT DOES NOT WORK PROPERLY!
COULD SOMEONE PLEASE EXAPLIN TO ME WHY?!
please email to:
shvetsky@sxt1.mtk.ioa.s.u-tokyo.ac.jp
Thanks!!!!!!!!!!!!!!!!!!!
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